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i Ta. | Differentiate between leng column and shon column. a3 ' 5

b | Derive an expression of hoo tress and longitudi
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3 a { Derive the Euler's equation for buckline load on i elastic

b, A hallew rectengular cast jron cotumn has e

4 s - Derive the Euler’s equation for buckling load on an elastic column with both ends fixed. )7 |74 ek

b. ] A hallow cylindrical cast iron column is 4m long both ends fixed. Design the caliime - L c L CO3
carry axial load of 250KN. Use Rankine's formula, The luemal diameter may be taken as |

] 0.8 times the axviomy diameter, lake E=530N/mm?, a=1/1600 _

24 udents should be able to understand the analysis of thin and thick cylinders.
13-Students should be able 0 understand the basic concept of analysis and design of structural elements such as columns and struts
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Define (i) Hooke's Law (ii) Poisson’s Ratio

(iii) Bulk Modulus  (iv) Rigidity Modulus |

t b. | Derive an expression for elongation of tapered bar with rectangular cross-section |
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OR
Derive anexpression for establiishing the relations, i ; otz
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d.
| and rigidity modulus. !
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